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A.LCM Problem

https://codeforces.com/contest/1389/problem/A
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#include <bits/stdc++.h>

using namespace std;
typedef long long LL;

int main
int t = 0;
cin >> t;
t__
LL 1, r;
cin>>1>>r;
r < * 1)cout<<-l<<' '<<-l<<endl;
cout<<l<<' '<<2*1<<endl;

B.Array Walk
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#include <bits/stdc++.h>

using namespace std;
typedef long long LL;

CVBB ACM Team - https://wiki.cvbbacm.com/


https://codeforces.com/contest/1389/problem/A

Last

update: )0 2021 teams:too_low:cfedud2hj https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:too,_low:cfedud2hj&rev=1596187536

2020/07/31
17:25
LL a ;
LL maxA2 ;
LL tot ;
int main
int t = 0;
cin >> t;
t--
int n, k, z;
LL ans = 0;
cin>>n>>k>>z;
LL tt = 0;
int 1 =0; 1 <n; ++i
scanf("%sd", a+i);
i)tt += alil;
tot[i] = tt;
LL a2 = 0;
int i =0; 1i<n-1; ++1
a2 = max(a2, alil + ali+ c
maxA2[i] = a2;
ans = tot/k];
int 1 = 1; i <= k; ++1i
int rep = min(z, (k - 1) / ;
K ==1+ rep * ans = max(ans, maxA2/i - * rep +
tot[i]);
k == 1 + && z) ans = max(ans, tot[i] + ali- .
k==1+ 1+ rep * 2 & z >= rep + ans = max(ans, maxA2[1i
- * rep + tot[i] + ali- ;

cout<<ans + a <<endl;

C.Good String

O00000nOgood string s[i] =s[(i+2) % n]l 0000 000000 0OO0D0OODOOODOOO
OgoodstringD 00000000 00O0ODOOODO0900200000good stringl0 00000
O000000000000000g <hidden> <code cpp> #include <bits/stdc++.h> using
namespace std; typedef long long LL; int main() { int t = 0; cin » t; while (t-) { string s;
cin»s; int | = s.length(); int ans = INT32_MAX; for (inti ='0"; i « '9'; ++i) { for (int j ='0'; j
<'9; ++j) {inte =0; bool rev=0; for (intk=0; k<l && e < ans; ++k) { charc=rev ?j:
i; if(s[k] '=c) e++; else if(k ==1-1 &&i!=j&& (Il & 1))e++; else rev = !rev; } if(rev && (i
I=j))e++; ans = min(ans, e); } } cout«ans«endl; } } </code> </hidden> =====
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